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eq72b - omega[a]*cod(-a) contraction of SSSeq72

proof of eq72b: We commence with SSSeq72:

taking the covariant derivative:

and contract by omega[a]
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Now we use the following identities:

and so

also
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hence

and also

and so we subs these (temps 5,6,8,9,10,12,13,14) all into the original equation, plus other identities:
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from eq72a
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eliminating `p'''`:
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***********************************************************************
from eq72a:
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subs in temp15:
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(1.27)(1.27)"30*Psi^6*omega^4*`p''`*`p'`*muC30*Psi^6*omega^4*`p''`*`p'`*p-54*Psi^4*`p'`^2*
omega^4*`p''`*mu-54*Psi^4*`p'`^2*omega^4*`p''`*pC24*Psi^4*omega^4*`p''`*`p'`*
muC24*Psi^4*omega^4*`p''`*`p'`*p-6*Psi^4*mu^2*`p''`*omega^2*`p'`-18*Psi^4*p^2*
`p''`*omega^2*`p'`C6*Psi^6*mu^2*omega^4*(-72*Psi^6*mu^2*omega^2*`p''`^2-144*
Psi^6*mu*omega^2*p*`p''`^2C234*Psi^6*mu*omega^2*`p'`^2*`p''`-72*Psi^6*
omega^2*p^2*`p''`^2C234*Psi^6*omega^2*p*`p'`^2*`p''`-72*Psi^6*omega^2*
`p'`^4C12*Psi^6*mu*omega^2*`p'`*`p''`C12*Psi^6*omega^2*p*`p'`*`p''`-12*Psi^6*
omega^2*`p'`^3C486*Psi^4*mu*omega^2*`p'`^3*`p''`C486*Psi^4*omega^2*p*`p'`^3*
`p''`-540*Psi^4*omega^2*`p'`^5C144*Psi^4*mu*omega^2*`p'`^2*`p''`-24*Psi^4*mu*
`p'`^2*`p''`*theta^2C144*Psi^4*omega^2*p*`p'`^2*`p''`-108*Psi^4*omega^2*`p'`^4
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-24*Psi^4*p*`p'`^2*`p''`*theta^2-216*Psi^2*mu*`p'`^4*`p''`*theta^2-324*Psi^2*
omega^2*`p'`^6-216*Psi^2*p*`p'`^4*`p''`*theta^2-36*Psi^4*mu^2*`p'`^2*`p''`-144*
Psi^4*mu*p*`p'`^2*`p''`-27*Psi^4*mu*`p'`^4C24*Psi^4*omega^2*`p'`^3-108*Psi^4*
p^2*`p'`^2*`p''`-27*Psi^4*p*`p'`^4C4*Psi^4*`p'`^3*theta^2-216*Psi^2*omega^2*
`p'`^5C72*Psi^2*`p'`^5*theta^2C324*`p'`^7*theta^2-3*Psi^4*mu*`p'`^3C9*Psi^4*p*
`p'`^3C54*Psi^2*mu*`p'`^5C162*Psi^2*p*`p'`^5)/(18*Psi^6*mu^2*omega^2*
`p'`C36*Psi^6*mu*omega^2*p*`p'`C18*Psi^6*omega^2*p^2*`p'`)C6*Psi^6*
omega^4*p^2*(-72*Psi^6*mu^2*omega^2*`p''`^2-144*Psi^6*mu*omega^2*p*
`p''`^2C234*Psi^6*mu*omega^2*`p'`^2*`p''`-72*Psi^6*omega^2*p^2*`p''`^2C234*
Psi^6*omega^2*p*`p'`^2*`p''`-72*Psi^6*omega^2*`p'`^4C12*Psi^6*mu*omega^2*
`p'`*`p''`C12*Psi^6*omega^2*p*`p'`*`p''`-12*Psi^6*omega^2*`p'`^3C486*Psi^4*mu*
omega^2*`p'`^3*`p''`C486*Psi^4*omega^2*p*`p'`^3*`p''`-540*Psi^4*omega^2*
`p'`^5C144*Psi^4*mu*omega^2*`p'`^2*`p''`-24*Psi^4*mu*`p'`^2*`p''`*theta^2C144*
Psi^4*omega^2*p*`p'`^2*`p''`-108*Psi^4*omega^2*`p'`^4-24*Psi^4*p*`p'`^2*`p''`*
theta^2-216*Psi^2*mu*`p'`^4*`p''`*theta^2-324*Psi^2*omega^2*`p'`^6-216*Psi^2*p*
`p'`^4*`p''`*theta^2-36*Psi^4*mu^2*`p'`^2*`p''`-144*Psi^4*mu*p*`p'`^2*`p''`-27*
Psi^4*mu*`p'`^4C24*Psi^4*omega^2*`p'`^3-108*Psi^4*p^2*`p'`^2*`p''`-27*Psi^4*p*
`p'`^4C4*Psi^4*`p'`^3*theta^2-216*Psi^2*omega^2*`p'`^5C72*Psi^2*`p'`^5*
theta^2C324*`p'`^7*theta^2-3*Psi^4*mu*`p'`^3C9*Psi^4*p*`p'`^3C54*Psi^2*mu*
`p'`^5C162*Psi^2*p*`p'`^5)/(18*Psi^6*mu^2*omega^2*`p'`C36*Psi^6*mu*omega^2*
p*`p'`C18*Psi^6*omega^2*p^2*`p'`)-4*Psi^4*theta^2*`p''`*omega^2*`p'`*mu-4*
Psi^4*theta^2*`p''`*omega^2*`p'`*p-24*Psi^4*mu*`p''`*omega^2*`p'`*pC4*Psi^6*
omega^4*`p''`*muC4*Psi^6*omega^4*`p''`*pC24*Psi^5*omega*`p'`^3*omega[a]*
omega[-A]C4*Psi^5*omega*`p'`^2*omega[a]*omega[-A]C36*Psi^3*omega*`p'`^4*
omega[a]*omega[-A]C24*Psi^3*omega*`p'`^3*omega[a]*omega[-A]C12*Psi^6*mu*
omega^4*p*(-72*Psi^6*mu^2*omega^2*`p''`^2-144*Psi^6*mu*omega^2*p*
`p''`^2C234*Psi^6*mu*omega^2*`p'`^2*`p''`-72*Psi^6*omega^2*p^2*`p''`^2C234*
Psi^6*omega^2*p*`p'`^2*`p''`-72*Psi^6*omega^2*`p'`^4C12*Psi^6*mu*omega^2*
`p'`*`p''`C12*Psi^6*omega^2*p*`p'`*`p''`-12*Psi^6*omega^2*`p'`^3C486*Psi^4*mu*
omega^2*`p'`^3*`p''`C486*Psi^4*omega^2*p*`p'`^3*`p''`-540*Psi^4*omega^2*
`p'`^5C144*Psi^4*mu*omega^2*`p'`^2*`p''`-24*Psi^4*mu*`p'`^2*`p''`*theta^2C144*
Psi^4*omega^2*p*`p'`^2*`p''`-108*Psi^4*omega^2*`p'`^4-24*Psi^4*p*`p'`^2*`p''`*
theta^2-216*Psi^2*mu*`p'`^4*`p''`*theta^2-324*Psi^2*omega^2*`p'`^6-216*Psi^2*p*
`p'`^4*`p''`*theta^2-36*Psi^4*mu^2*`p'`^2*`p''`-144*Psi^4*mu*p*`p'`^2*`p''`-27*
Psi^4*mu*`p'`^4C24*Psi^4*omega^2*`p'`^3-108*Psi^4*p^2*`p'`^2*`p''`-27*Psi^4*p*
`p'`^4C4*Psi^4*`p'`^3*theta^2-216*Psi^2*omega^2*`p'`^5C72*Psi^2*`p'`^5*
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theta^2C324*`p'`^7*theta^2-3*Psi^4*mu*`p'`^3C9*Psi^4*p*`p'`^3C54*Psi^2*mu*
`p'`^5C162*Psi^2*p*`p'`^5)/(18*Psi^6*mu^2*omega^2*`p'`C36*Psi^6*mu*omega^2*
p*`p'`C18*Psi^6*omega^2*p^2*`p'`)-12*`p'`^5*theta^4-4/3*Psi^2*`p'`^3*theta^4-18*
mu*`p'`^5*theta^2-3*Psi^2*mu^2*`p'`^3-54*p*`p'`^5*theta^2-27*Psi^2*p^2*`p'`^3-96*
Psi^6*omega^4*`p'`^3-144*Psi^4*omega^4*`p'`^3-16*Psi^6*omega^4*`p'`^2-16*
Psi^4*omega^4*`p'`^2-72*Psi^4*omega^4*`p'`^4-72*Psi^2*omega^4*`p'`^4-48*Psi^2*
omega^4*`p'`^3C72*omega^2*`p'`^5*theta^2-4*Psi^2*mu*`p'`^3*theta^2-12*Psi^2*p*
`p'`^3*theta^2C45*Psi^4*mu*omega^2*`p'`^3C24*Psi^2*mu*omega^2*`p'`^3-18*
Psi^2*mu*p*`p'`^3C117*Psi^4*omega^2*p*`p'`^3C72*Psi^2*omega^2*p*
`p'`^3C144*Psi^2*omega^2*`p'`^5*theta^2C8/3*Psi^4*omega^2*`p'`^2*theta^2C24*
Psi^2*omega^2*`p'`^4*theta^2C7*Psi^4*mu*omega^2*`p'`^2C15*Psi^4*omega^2*p*
`p'`^2C18*Psi^2*mu*omega^2*`p'`^4C54*Psi^2*omega^2*p*`p'`^4C24*Psi^4*
omega^2*`p'`^3*theta^2C16*Psi^2*omega^2*`p'`^3*theta^2-12*`p'`*Psi^5*mu*
omega*`p''`*omega[a]*omega[-A]-12*`p'`*Psi^5*omega*p*`p''`*omega[a]*omega[-A] =
0"


